mOU‘l‘\Mz’lOChm‘/\ Quuz  fevicw) , [

T Class prachce I —

- = X =42 A, - (x 5)(\1 5) 4

| | Apm 2= 58-S T2
S e e

e - . e MM'W ]

Ko = AUT-H00yT ~5Y

"

ol
=
‘\)

N30 LAz fr
= - I 2- 2. i
Py = f00g = (1200297)

9. c(g,):xzo*z s B :
¢ - 100g-120 -29 o o

w_,.w; - R(q)=190q . SR,
0= loo- ':B,MMMWMWW

B R QL = 7.5 FYDC\UC\TS -
U = .
T ><fa_m__aWj:Q,w(:,,%.LQLMMMM (x+2)?r (N-2)"

o ~ ﬁ( Fux +Y4 rg S
A ® \meﬁugjjlbﬁé) -

v

) “lg

o 3 (x#r5x +1) (lx‘i’S)
= .10 1 a Z )

y

- < Iz o
N (2.5)13 a. = (x +Sx 177 )

2x+S

T

N Caxtsx)'t
ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ (-25,707) . ox=7ES



R T S R |
\ X . \.\ AM(‘x - 3X ;i
\ 1 1 1\ : 2500“'313) |
\ ’ Ag\,‘pf 5\143(\ T4 5{
x x % 4sboy = 24ty |
I , A - \- |
892 L 24k E
L gD 2y ) 2 502 A ERNS RN
“ S99 442
%+ B2y = - 25090 - AT T N -
- oIser | a2
\Lfk_b( 1500~ g;_\f O - Y -
ququququ Lﬁl - =S 37
B 2500~ 2 1o Y -
o — i
o 44 N: 5. 244 £t -
o _ 2500 - 2015 2494) B
Bk 7 -
X= L& 1
- area of endloswee 152U FT X 20042 £t
‘ A
- T\\( t = r = .-t!';nn+ r ‘t i) K
LR Trese | 37X
C3 b ) N t = 33 " s I
e Jf X\‘ 2 gj—_—,— (X7f“3\07\’2 ¥ %8‘2"" é’ix
— s_—;%‘ _(—':,(x%rsu)"’l(zx) ~ T%
S-2 mphn N X L

3 (x2r3u)te T S 2

£(0) = 3140 hes

K= p-0T s

+ (wo’“‘g - 2.0 hys

()= 2703 Yws

HC Shomd row  The oot YO O wm‘l‘ (gO”MD mi

fom The pomt 00 the sho erpmdm\gr » him -




A B i < (3~ 2x Vi Lo
YT on e Yg-ax Vimas = (UO-Zx)(‘“"ZUX
j C J A= x Vier = (2550 - j20x- Qo+ ) X
;__Lm . _—‘; Vines = Zgng-Zl(oxlk’-D{}
V'72390-432x +12x*
0= 40-2(%935) 0= 12(x*- 3lx+240 )
0=42.33% in Y%= 8.855,,2}4@5

o U 2(5525)

Nr 30~53 lf;\

vﬁ/\: %X}S \ﬂm




B TJoke Home Proctice -

L R R N A E—

-t xy =20 A g (xr4 X y+3)
. 2 AR X = 5‘3" JAVIEER S Ra LR XS
,,,,,,,, o A (BN rHyr3z
N (= {9 A 50+ 400y -y 732
~ X=5 15 A = OO Uy TS 2
A= THaON T Y
0- G- )
Nonab il Li\i;?z =4
- 4 in X I8 1N N= 10
. 2. X %
A
X X : ’\_’_
) Fo = HXF3Y b) Coam = 20712207 1Y)
Foonn = 4(9—2’,031*3‘7 Con = BxT5Y
o = 3000y "' r 3y Cons §() <y
- F'= “3L00\ T2 Come = 12008 75N
)= .%io’*-% C'= -TT200y 75 |
2o . 5 0= THES
AAAAA B L B 1 o e -
CXE Geen) o N 37N fr
K= 25081 £T. X= oam) -
25.G51 £r ¥ 24 Gl FT. = 23 717

235 7 fF X 37.947 o



( i ——
— - §-24-2x Vs = L~
e e N (2s-20(24-23) x
B | L h=x me:@'/u—‘??bxi—'—h(’“)\(
X X
—24 in — Ve = ST0x ~Glox2 7 Lx”
Vi= 570 - g2+ 12x?
&:zq~2,6‘4) 0= lz(x1-ltmc+qg)
1: o 1~ N = U K>Q/1
A= i\ C/\
_/%\: g& ;\f\
}v N XN\ = 180,000 Foon™ X+ 2y
[ xw F s 180000y "+ 2y
= ]
F'= -ig0000y “+ L
y = 1§ 0000 - 1§0200
= (3{30) Q= N + 2
| $3000
X = oo N 2
N =390 f7r

300 £ x oo T,




A s j(x?Z r (y)*

S SN S ES———

5. y=x -1 to (0.0)
X*=yr Arn = \/i(\jf“l) 1—32«
x> = (5)*7] d.. = ( kjlmw'l)“"

- £ 2540 o' Flyrryr1) " layrt) |
| gt~ —
0= Z(glr\y—’\)”z

N=- .5
|
(2.5#@;.«;) 4 (-z.S“HLD?’.S)
Lo
PN N =X A AN
) Ao x (xiea)
X
] \ A, = —xrax
W 2x W N ) :
=~ (h132)7+49 A= "sx*19
N= U 0= "3(x*-3)
X=*1.713L

2.4LH X L




